
Answers – VOLUME 2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 5, Shear Forces and Shear Stresses Due to Bending problem 5.058, page 402 
 

Last update: 10-11-07 

Remarks: See §5.6, example 2, pages 381 till 382  
 
Answers:  
 
a.  2

bolt 47,75 N/mmτ =

b.  (1) 22,5 N/mmτ =

c.  (1) 230 N/mmupsettingσ =

d.  (2) 21,5 N/mmτ =

e.  (2) 215 N/mmupsettingσ =

 
Explanation: 
 
a. Area of the bolt cross-section:  278,54 mmA =

 
3

bolt 2
7,5 10  N

2 (78,54 mm )
 (double shear lap) τ ×

=
×

b. 
3

(1) 7,5 10  N
2 (60 mm)(25 mm)

τ ×
=

×
 

c. 
3

(1) 7,5 10  N
(10 mm)(25 mm)upsettingσ ×

=  

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

d. 
31

(2) 2 7,5 10  N
2 (50 mm)(25 mm)

τ
× ×

=
×

 

e. 
31

(2) 2 7,5 10  N
(10 mm)(25 mm)upsettingσ

× ×
=  

 


